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 / ndf 2χ  271.4 / 6
Prob       0
p0        0.1357±  4.03 
p1        0.000274± 0.04223 

 / ndf 2χ  271.4 / 6
Prob       0
p0        0.1357±  4.03 
p1        0.000274± 0.04223 

RUN=10, CH=3RUN=10, CH=3

 / ndf 2χ  271.4 / 6
Prob       0
p0        0.1357±  4.03 
p1        0.000274± 0.04223 
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  [mV]THRU
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 / ndf 2χ  414.5 / 11
Prob       0
p0        0.09909± 3.996 
p1        0.0002966± -0.0606 

 / ndf 2χ  414.5 / 11
Prob       0
p0        0.09909± 3.996 
p1        0.0002966± -0.0606 

RUN=11, CH=3RUN=11, CH=3

 / ndf 2χ  414.5 / 11
Prob       0
p0        0.09909± 3.996 
p1        0.0002966± -0.0606 
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 / ndf 2χ  632.4 / 14
Prob       0
p0        0.0533± 2.841 
p1        0.0002801± -0.06414 

 / ndf 2χ  632.4 / 14
Prob       0
p0        0.0533± 2.841 
p1        0.0002801± -0.06414 

RUN=12, CH=3RUN=12, CH=3

 / ndf 2χ  632.4 / 14
Prob       0
p0        0.0533± 2.841 
p1        0.0002801± -0.06414 
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 / ndf 2χ  677.7 / 19
Prob       0
p0        0.07426± 3.492 
p1        0.0003385± -0.07943 

 / ndf 2χ  677.7 / 19
Prob       0
p0        0.07426± 3.492 
p1        0.0003385± -0.07943 

RUN=13, CH=3RUN=13, CH=3

 / ndf 2χ  677.7 / 19
Prob       0
p0        0.07426± 3.492 
p1        0.0003385± -0.07943 
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 / ndf 2χ  698.3 / 18
Prob       0
p0        0.05648± 3.114 
p1        0.0003144± -0.0795 

 / ndf 2χ  698.3 / 18
Prob       0
p0        0.05648± 3.114 
p1        0.0003144± -0.0795 

RUN=14, CH=3RUN=14, CH=3

 / ndf 2χ  698.3 / 18
Prob       0
p0        0.05648± 3.114 
p1        0.0003144± -0.0795 
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 / ndf 2χ  328.7 / 11
Prob       0
p0        0.2307±  5.29 
p1        0.0003817± -0.05248 

 / ndf 2χ  328.7 / 11
Prob       0
p0        0.2307±  5.29 
p1        0.0003817± -0.05248 

RUN=15, CH=3RUN=15, CH=3

 / ndf 2χ  328.7 / 11
Prob       0
p0        0.2307±  5.29 
p1        0.0003817± -0.05248 
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 / ndf 2χ  388.8 / 9
Prob       0
p0        0.2009±     4 
p1        0.0004235± -0.05467 

 / ndf 2χ  388.8 / 9
Prob       0
p0        0.2009±     4 
p1        0.0004235± -0.05467 

RUN=16, CH=3RUN=16, CH=3

 / ndf 2χ  388.8 / 9
Prob       0
p0        0.2009±     4 
p1        0.0004235± -0.05467 
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 / ndf 2χ  578.8 / 17
Prob       0
p0        0.3889± 9.051 
p1        0.0005344± -0.08456 

 / ndf 2χ  578.8 / 17
Prob       0
p0        0.3889± 9.051 
p1        0.0005344± -0.08456 

RUN=17, CH=3RUN=17, CH=3

 / ndf 2χ  578.8 / 17
Prob       0
p0        0.3889± 9.051 
p1        0.0005344± -0.08456 
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 / ndf 2χ    392 / 10
Prob       0
p0        0.3538± 5.538 
p1        0.0005159± -0.05919 

 / ndf 2χ    392 / 10
Prob       0
p0        0.3538± 5.538 
p1        0.0005159± -0.05919 

RUN=18, CH=3RUN=18, CH=3

 / ndf 2χ    392 / 10
Prob       0
p0        0.3538± 5.538 
p1        0.0005159± -0.05919 
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 / ndf 2χ  874.2 / 27
Prob       0
p0        0.3726± 8.607 
p1        0.000735± -0.1269 

 / ndf 2χ  874.2 / 27
Prob       0
p0        0.3726± 8.607 
p1        0.000735± -0.1269 

RUN=19, CH=3RUN=19, CH=3

 / ndf 2χ  874.2 / 27
Prob       0
p0        0.3726± 8.607 
p1        0.000735± -0.1269 


